GEOMETRY QUIZ 1.4

1.
Find x given: [image: image1.png]










(1 point)
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2.
Find x given: [image: image3.png]32












(1 point)
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3.
Find surface area of the cone. Round the answers to the nearest tenth. 


(2 points)
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4.
Find the volume of the sphere shown. Give your answer rounded to the nearest cubic unit.(2 points)
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5.
The figure represents the overhead view of a deck surrounding a hot tub. What is the area of the deck? Round to the nearest tenth.







(3 points)
[image: image7.png]




6.
Find the area of an equilateral triangle with a side of 12, in simplest radical form.

(3 points)

For questions 7-11, identify the letter of the choice that best completes the statement or answers the question.


____
7.
Which statement provides a counterexample to the following faulty definition?

(1 point)
A square is a figure with four congruent sides.

	A.
	A six-sided figure can have four sides congruent.

	B.
	Some triangles have all sides congruent.

	C.
	A square has four congruent angles.

	D.
	A rectangle has four sides.


____
8.
Which biconditional is NOT a good definition?





(1 point)
	A.
	A whole number is odd if and only if the number is not divisible by 2.

	B.
	An angle is straight if and only if its measure is 180.

	C.
	A whole number is even if and only if it is divisible by 2.

	D.
	A ray is a bisector of an angle if and only if it splits the angle into two angles.


____
9.
Which statement is the Law of Detachment?





(1 point)
	A.
	If [image: image8.png]


 is a true statement and q is true, then p is true.

	B.
	If [image: image9.png]


 is a true statement and q is true, then [image: image10.png]


 is true.

	C.
	If [image: image11.png]


 and [image: image12.png]


 are true, then [image: image13.png]


 is a true statement.

	D.
	If [image: image14.png]


 is a true statement and p is true, then q is true.


____
10.
Which statement is the Law of Syllogism?





(1 point)
	A.
	If [image: image15.png]


 is a true statement and p is true, then q is true.

	B.
	If [image: image16.png]


 is a true statement and q is true, then p is true.

	C.
	if [image: image17.png]


 and [image: image18.png]


 are true statements, then [image: image19.png]


 is a true statement.

	D.
	If [image: image20.png]


 and [image: image21.png]


 are true statements, then [image: image22.png]


 is a true statement.


____
11.
Which conditional has the same truth value as its converse?


(1 point)

	A.
	If x = 7, then [image: image23.png]


.

	B.
	If a figure is a square, then it has four sides.

	C.
	If x – 17 = 4, then x = 21.

	D.
	If an angle has measure 80, then it is acute.




In questions 12-17 if the converse of the given conditional is true, write true; if not true, provide a counterexample.


12.
If a circle’s radius is 2 m, then its diameter is 4 m.



(1 point)


13.
If a point is in the first quadrant, then its coordinates are positive.


(1 point)

14.
If an angle is a right angle, then its measure is 90.



(1 point)

15.
If x = 4, then x2 = 16.







(1 point)


16.
If lines are parallel then they do not intersect.




(1 point)


17.
If a number is divisible by 10 then the number contains the digit 0.

(1 point)


18.
What is the converse and the truth value of the converse of the following conditional?
(1 point)

If an angle is a right angle, then its measure is 90.


19.
For the following true conditional statement, write the converse and state its truth value.  If the converse is also true, combine the statements as a biconditional.




(1 point)

If x = 3, then x2 = 9.

20.
Write the two conditional statements that make up the following biconditional.

(1 point)

I drink juice if and only if it is breakfast time.


21.
Determine whether the conditional and its converse are both true. If both are true, combine them as a biconditional. If either is false, give a counterexample.




(1 point)

If two lines are parallel, they do not intersect.

If two lines do not intersect, they are parallel.


22.
Decide whether the following definition of perpendicular is reversible. If it is, state the definition as a true biconditional: Two lines that intersect at right angles are perpendicular.

(1 point)


23.
Is the statement a good definition? If not, find a counterexample.



(1 point)

A square is a figure with two pairs of parallel sides and four right angles.


24.
Use the Law of Detachment to draw a conclusion from the two given statements.  If not possible, write not possible.









(1 point)

If two angles are congruent, then they have equal measures.

[image: image24.png]P



 and [image: image25.png]


 are congruent.


25.
Use the Law of Detachment to draw a conclusion from the two given statements. If not possible, write not possible.









(1 point)

I can go to the concert if I can afford to buy a ticket.

I can go to the concert.


26.
Use the Law of Syllogism to draw a conclusion from the two given statements.

(1 point)

If a number is a multiple of 64, then it is a multiple of 8.

If a number is a multiple of 8, then it is a multiple of 2.


27.
Use the Law of Detachment and the Law of Syllogism to draw a conclusion from the three given statements.

If an elephant weighs more than 2,000 pounds, then it weighs more than Jill’s car.

If something weighs more than Jill’s car, then it is too heavy for the bridge.

Smiley the Elephant weighs 2,150 pounds.





(1 point)



28.
Assume that the following statements are true.





(3 points)

I. If Cecil makes his bed, then it is morning.

II. If it is 8 p.m., then Tami brushes her teeth.

III. If it is morning, then Ted listens to the radio.

IV. If it is afternoon, then Jeanette takes her daily swim.

V. Cecil makes his bed.
For each statement below, write must be true, may be true, or not true. Use only the information given above. 

A. Ted listens to the radio.

B. Tami does not brush her teeth.

C. Jeanette takes her daily swim.

For questions 29-30 (a) identify the type of argument  (b) Determine the argument’s validity.  (c) State whether the argument is sound. (You do not have to draw a Venn diagram!)


(3 points each)

29.
All dairy products contain protein.


Soybeans contain protein.


Soybeans are dairy products.
30.
All opera singers can whistle a Mozart tune.


Pavarotti is an opera singer.


Pavarotti can whistle a Mozart tune.

31.
Construct a valid argument based on the diagram shown.





(1 point)
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32. Complete the proof of the statement
If x + 3 = 15x – 53, then x = 4.

(4 points)

Proof:
	Statements
	Reasons

	a. x + 3 = 15x – 53  
	a. Given

	b. x – x + 3 = 15x – x – 53 
	b.

	c. 3 = 14x – 53   
	c.

	d. 3 + 53 = 14x – 53 + 53
	d.

	e. 56 = 14x
	e.

	f. 56 = 14x
   14     14
	f.

	g. 4 = x
	g.

	h. x = 4
	h.


33.
What is the value of x? Justify each step.
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34.
Complete the paragraph proof.

Given: [image: image30.png]Z1 and £2



 are supplementary, and [image: image31.png]22 and £3



 are supplementary.
Prove: [image: image32.png]
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By the definition of supplementary angles, [image: image34.png]mol + mZ2




 _____ (a) and [image: image35.png]mL2 + mL3




 _____ (b). Then [image: image36.png]mol +mZl2 = mZ2 +mZl3



 by _____ (c). Subtract [image: image37.png]


 from each side. You get [image: image38.png]


 _____ (d), or [image: image39.png]


 _____ (e).
35.
Complete the two-column proof.

Given: [image: image40.png]Ll =22, msl =130




Prove: [image: image41.png]130
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Drawing not to scale
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BONUS

Two square pyramids have the same volume. For the first pyramid, the side length of the base is 20 in. and the height

is 21 in. The second pyramid has a height of 84 in. What is the side length of the base of the second pyramid?









